
P
R

O
-G

A
R

D
 P

R
O

D
U

C
T

S
, 

L
L

C

E:\MY DOCUMENTS\PAGE MAKER\DIRECTIONS\G4906\G4906.P65 DATE: 04NOV03 REV. 2
1

INSTALLATION INSTRUCTIONS
G4906I06  PARTITION MOUNT

I. Check to insure the following parts are included in your package:

A. G4906I06 Gun Rack Assembly
1. Butt Plate (3G4962P)
2. Timer, 3 Wire (G1002)
3. Switch, Momentary (3G5100)
4. Vertical Gun Rack Bracket with attached Lock
5. Bracket, U Shaped (3G4980E) & (3G4980D)

B. Hardware

1 . 1/4-20 Black Flat Washers, 3X12, (2) Each
2 . 1/4-20 x 5/8 Phillips Head Bolt, 3X03, (1) each
3 . 1/4-20 ESNA nylon locknut, 3X17, (2) each

II. You will need the following Tools:

A. 3/8� & 7/16� Socket C. Flat Head Screw Driver
B. Socket Wrench D. Drill and 5/16� Drill Bit

III. Place the G4906I06 Vertical Gun Rack approximately in the center of the Partition, between the
bucket seats (as shown in the figure below).  Adjust the U Shaped Bracket (3G4980E) to
give the greatest support against the kick plate of Partition.

IV. Mark the hole location of the bracket on the kick plate and drill a 5/16� hole. Attach the U-
Shaped Bracket (3G4980E) with a 1/4-20 Phillips Head Bolt (3X03) and a 1/4-20 ESNA
Nylon Locknut (3X17). Attach U
Shaped Bracket (3G4980E) to vertical
bracket of gun rack.

V. Attach the Z Shaped braket
(3G4980D) to the bottom of bracket

VI. Place weapon in the gun rack
and adjust lock to properly fit
weapon.

VII. Finish installation of
electric gun rack as per
timer instructions.

BRACKET
U SHAPPED
3G4980E
(1) EACH

Z Shaped braket not shown

1/4-20 X 5/8
PHILLIPS HEAD SCREW
3X03
(1) EACH
1/4-20
ESNA NYLON LOCKNUT
3X17
(1) EACH


